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Academic Year 2023-2024

2023-2024 Final Exam of Mathematics-B

Name and surname:

Signature and DNI:

Important: Books or any other written material are not allowed during the exam. Calculators
are not permitted. The total score of this script is 10 points. The professor wont mark anything
written on scrap paper
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xz
2pt] Sketch th h of f(z) = ——
[2pt] Sketch the graph of f(z) = 5—

[Piease. draw the asymptotes in bright red/green if you have these color pens and reserve the usual blue/black ink for the graph

, showing clearly on your sketch any asymptotes.

of the functEOn]

oo n

[2pt] a) Find the real values of x for which the power series Z (2in)7 converges.
n=0 .

b) Find the exact sum of the previous series when z = 1,3, -3, —4,9.

c) From your answer in b) write a function f(z) that exactly matches the given power series
when i) z > 0, ii) z < 0.

[2pt] a) Calculate
log 3 dx
0 Ver +1

dr . .
is convergent or divergent.

ver+1
1—sinz

[2pt] Find the first five non zero terms of the power series in x for e and state clearly

(b) Determine whether [°

its radius of convergence.

[1.20+0.8pt] a) Calculate limy_ o n2 (\/n4 e O o e 1).

1 z+2
b) In interval notation the solution set for the inequality S < s

r—2 7 xz+3
Find a,b.

is (—o0,a) U [b,2).
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UNIVERSIDAD COMPLUTENSE DE MADRID
FACULTAD DE CIENCIAS FISICAS

Curso 2023-2024

Examen Final de Matematicas: grupo E

Nombre y Apellidos:

Firma y DNI:

Nota: En esta prueba no se permiten libros ni apuntes ni calculadora. La nota total de este
examen son 10 puntos. No se corregird nada no incluido en este cuadernillo. Més claramente: si se
entregan hojas en sucio ésas no se corrigen.

Pl

P2

P3

P4

P5

[2pt] Esbozar la grafica de f(z) = 5 = L indicando claramente en el didujo todas las asintotas.
x —

[Emplee por favor tinta de color llamative rojo/verde para las asintotas y reserve el color habitual azul/negro para la grafica de

la funcién.]
O ﬂ'}n
[2pt] a) Calcular para qué valores reales de z converge la serie de potencias Z W
n=0 ’

b) Encontrar la suma exacta de la serie cuando = = 1,3, -3, —4, 9.

c) A la vista de la respuesta del apartado anterior escribir una funcién f(z) que coincida con
la serie de potencias dada sii) z > 0, ii) z < 0.

log 3 dr
/0 e+ 1

es convergente o divergente

[2pt] a) Calcular

dz
b) Determinar si la integral [° ————
B vl bzt
. : B ; ; l—sinz
[2pt] Encontrar los cinco primeros términos no nulos de la serie de potencias en z de S
y diga claramente cudl es el radio de convergencia de la serie.

(1.20+0.8pt]
a) Calcular lim,,_,o, 2 (\/n4 +11 —vVnt + 1).
: ; : z+1 z+2 » : :
b) El conjunto de soluciones de la desigualdad 5 < =73 en notacién habitual de intervalos
B "

es (—oo,a) U [b,2). Encontar a,b.
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